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QUESTION 1

Which one of the following is the purpose of the IDXNAME= data set option?
A. It instructs SAS to name and store a specific index.

B. It instructs SAS to store an index in a particular location.

C. Itinstructs SAS to use a specific index for WHERE processing.

D. It instructs SAS to use any available index for WHERE processing.

Correct Answer: C

QUESTION 2

Given the following SAS data set ONE:
ONE REP COST

SMITH 200

SMITH 400

JONES 100

SMITH 600

JONES 100

JONES 200

JONES 400

SMITH 800

JONES 100

JONES 300

The following SAS program is submitted:
proc sql;

select rep, avg(cost) as AVERAGE

from one

group by rep

having avg(cost) > (select avg(cost) from one);
quit;
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Which one of the following reports is generated?
A. REP AVERAGE

JONES 200 B. REP AVERAGE

JONES 320

C. REP AVERAGE

SMITH 320

D. REP AVERAGE

SMITH 500

Correct Answer: D

QUESTION 3

Which one of the following SAS SORT procedure options eliminates identical consecutive observations?
A. NODUP

B. UNIQUE

C. DISTINCT

D. NODUPKEY

Correct Answer: A

QUESTION 4

Given the following SAS data sets ONE and TWO:
ONE TWO NUM COUNTRY NUM CITY

1 CANADA 3 BERLIN

2 FRANCE 5 TOKYO

3 GERMANY 4 BELGIUM

5 JAPAN

The following SAS program is submitted:

proc sql;

select country from one where not exists
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(select * from two where one.num = two.num);
quit;

Which one of the following reports is generated?
A. COUNTRY

GERMANY

JAPAN

B. COUNTRY

FRANCE

BELGIUM

C. COUNTRY

CANADA

FRANCE

BELGIUM

D. COUNTRY

CANADA

FRANCE

GERMANY

Correct Answer: C

QUESTION 5

The following SAS program is submitted:

data temp;

array points{3,2} temporary_ (10,20,30,40,50,60); score = points{2,1}

run;

Which one of the following is the value of the variable SCORE in the data set TEMP?
A. 10

B. 20

C.30
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D. 40

Correct Answer: C
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